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Poster	Contest:	Results	
q  Description	of	the	poster	

◆  Fact	1:	A	pocket	watch	with	its	chain	
◆  Fact	2:	Watch	mechanism	somehow	visible	
◆  Fact	3:	The	watch	rim	is	the	FCC-ee	collider	

●  The	RF	holds	the	chains		
◆  Fact	4:	SM	inputs	and	new	physics	around	

q  Basic	intepretation	
◆  (Swiss)	clock	stands	for	FCC-ee	Precision	
◆  Swiss	(clock)	means	FCC-ee	in	Geneva	
◆  The	mechanism	represents	the	CERN		
							existing	injector	complex	
◆  Altogether	

●  FCC-ee	
●  Unequalled	precision	
●  At	CERN	
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Poster	Contest:	Results	
q  Higher-level	interpretation	

◆  The	chains	represent	a	Feynman	diagram	
●  e.g.,		e+e-→	µ+µ- at	FCC-ee	

◆  The	watch	stands	for	the	1st		loop	correction	
●  with	SM	and	BSM	(?)	particles	
●  The	RF	is	the	coupling	power	to			
						(SM	or	new)	particles	

◆  The	inner	circles	represent	higher-orders	
●  Needed	to	match	the	exp’tal	precision	
●  And	to	determine	SM	inputs	

◆  The	mechanism	describes	the	quantum	
							structure	of	the	underlying	theory	

●  Unveiled	with	FCC-ee	precision	
●  And	characterizing	the	new	physics	

➨  Whatever	it	is	!	
Including	X(750)	→	γγ	

◆  Colours	indicate	the	possible	energy	scales	
							for	new	physics,	unveiled	by	the	FCC-ee	precision,	all	the	way	to	100	TeV.		
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Poster	contest:	results	
q  Ten	participants	

◆  Sandrine	Laplace	
◆  André	David	
◆  Christos	Leonidoupoulos	
◆  Guy	Coignet	
◆  Stéphane	Monteil	
◆  Michele	de	Gruttola	
◆  Werner	Riegler	
◆  Philippe	Schwemling		
◆  Eros	Cazzato		
◆  Mogens	Dam	
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Poster	contests	
q  Personal	interpretations	
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Werner 
The watch is here to show that we are in a real hurry to discover new physics Sandrine 
The clock is ticking ! 

André 
“Recherches des pièces détachées manquantes de la montre à remonter le temps” 

Guy 

The ticks of the swiss device introduce the possibility of subtle polarization measurements and I was even able to  
read that Weinberg angle is close to pi/6.  Stéphane 

The authors felt undoubtedly ill at ease with the fact that the swiss device is strongly inducing a deterministic view of the Nature.  
They've in turn chosen a probabilistic and colorful background to overcome this undesirable note. 

Stéphane 

You need a loop to investigate loops. 
A linear collider would only do Born level. Mogens 
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Ranking(s):	Everybody	won	
q  Fastest	answer	by	Sandrine:	11’40”	after	the	call	
q  Shortest	answer	by	André:	4	words	
q  Longest	answer	by	Philippe:	two-three	pages		
q  Most	obscure	answer	by	Michele:	I	am	still	wondering	what	it	means	
q  Most	poetic	answer	by	Stéphane	
q  Most	funny	answer	by	Werner	
q  Most	provocative	answer	by	Mogens	
q  Most	obeat	answers	(probably	for	another	poster?)	by	Eros	and	Guy	
q  Most	complete	answer	by	Christos		

◆  Ex-aequo	with	Philippe,	but	with	30	times	less	words,	and	22	days	before	
●  None	of	the	answers	got	all	elements		

➨  E.g.,	CERN	injector	complex,	quantum	structure,	RF	
	

Prizes	still	under	discussion	with	the	FCC	management.	
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Make	your	own	judgement	
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